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üíåâîðóéûíâèòàðòñèíèìäÀ
üíåâîðÓ

ÿèíàâîðèíàëïîãîíüëåòèîðòñîäàðã

üíåâîðÓ
îãîíòôàøäíàë
ÿèíàâîðèíàëï

îãîíòôàøäíàëáàòøñàÌ
ÿèíàâîðèíàëï

âîòêåúáóñàïïóðã,ÔÐòêåúáóÑ -îäàðãàìåõñÿàííàâîðèäèëîñíîK
,ÿèíàâîðèíàëïîãîíüëåòèîðòñ
ÿàíñêåëïìîêÿàíüëàèðîòèððåò

àìåõñ

ÿàíòôàøäíàË
àììàðãîðï

1:1òÎ 000 002:1îä000 000

,íîéàð,ãóðêîéûíüëàïèöèíóÌ
âîíîéàðàïïóðã

ÿàíñêåëïìîêÿàíüëàèðîòèððåÒ
îãîíüëåòèîðòñîäàðãàìåõñ

ÿèíàâîðèíàëï

éûíòôàøäíàË
íàëïéûí÷îìàð

002:1òÎ 05:1îä000 000

-åëâàðïóîìàñîãîíòñåìÿèðîòèððåÒ
-àðõîîáîñî,àäîðîãîãîíïóðê,ÿèí

ÿèðîòèððåòÿàìåÿí

ÿàíñêåëïìîêÿàíüëàèðîòèððåÒ
-àëïîãîíüëåòèîðòñîäàðãàìåõñ

ÿèíàâîðèí

éûíòôàøäíàË
íàëï

05:1òÎ 52:1îä000 000

îãîíïóðêüòñà÷,òêíóïéûííåëåñàÍ
-îòèððåòüòñà÷,ÒÎÎüòñà÷,àäîðîã

ÿèíåëâàðïóîìàñîãîíòñåìèèð

ûíàëïåûíüëàðåíåÃ »éûíåëåÇ«
íàëï

52:1òÎ 5:1îä000 000


)�#�/�5)-�#?�-�-')*#�$#�7,#>'�%9%���9�#7%-'�%�')$u�%9%�($#���%&#��?
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